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

        
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rit. E
q = 140



        

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

       





    
                               
    
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
     
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  
                       


                               

  
NOISE!!  



                        

6







                               
                               

    


                   

G





          

NOISE!!

 


              
    

   


                             
3 3

H




             


         


         


       

             
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



                    

          
          
                       

  





                    


         


         


                         





                  

              
              
                     
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rit.





               


                   


                   


                   

I
q = 125








  


                       3


           

   















   


                    


  
3


    

  
  

  
   

   
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














J
e = q





               


            


  









  

  
  

   






            





      
  

 
             

 











 













                    





      
  

 
            

 




 

 





 




 

 







                 
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rit.





      
  

 
             

 











 













                









K

q = 140




   
 

 
  

 
 

 
NOISE ... ad libitum


 

 

              


 

 

  

                     













 
              

              


    
          
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



 
              

              


    
          





















 
              

              


    

          





   
              


     

   
NOISE!!!

  
                 
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L




                   

          


 
       

    
                    

M




           
     


         


           


               

      





                     

          
                     

                          
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



                


           

                


                    

rit.





                 

                      
                 

                      

N
q = 190





     
        

3

                   
3 3 3 3

     
        

3

                   
3 3 3 3

14


